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You have the following information about the small, closed economy of Pasta Land. The domestic demand and supply curves for pasta in Pasta Land is given by the following equations:

Demand:         P = 200- 2Qd

Supply:   P = 3Qs

1. Using the point elasticity formula, calculate the price elasticity of demand of pasta at the equilibrium point.

Now, assume that the world price of pasta is $60.

2. Calculate the number of units of pasta imports for Pasta Land at this world price.

Suppose the government introduces a tariff on pasta. The world price is still $60 per units of pasta and the tariff is equal to $30.
3. What is the value of producer surplus (PStariff) with this tariff?

4. What is the value of tariff revenue with this tariff?
5. What is the value of the deadweight loss (DWL) from this tariff?
